
Optional Spool Arm Upgrade

,,,,,,,,,,,,,,,,Attach,the,Arm,Bracket
to,the,frame,using,four,M3xNR,
flathead,machine,screws,and,four,M3,nuts-

StepR24:,Insert,the,removable,folding,spool,arm
into,the,bracket,from,the,,topL,fully,seating,itL,with
the,spool,support,arm,pointing,towards,the,front
of,the,printer,when,folded,out-

StepR23:RAttach,the,Arm,Bracket,and,Backing,Plate
to,the,the,printer,frame-,,The,backing,plate,goes,to
the,inside,of,the,frame,and,should,be,aligned,with
the,four,holes,in,the,frameL,where,the,
old,spool,arm,was,removed-,,The,
Arm,Bracket,goes,on,the,
outsideL,with,the,rounded
side,walls,facing,up-,,

StepR20:RDownload,and,Print,the,new,Arm,BracketL,
SBacking,PlateL,and,Folding,Spool,Arm-,

Available,at:
https://www.tabsynth.com/lulzbot-mini-spool-arm-upgrade/

,,,,,,,,,,,,,,,,,,

,,,M3,machine
,,,screws,to
,,,remove

M5,Pivot
Bolts,to,remove

Copyright:,TabSyth,Design,Works,LLC,All,rights,reserved NRH51HN1R5,V31B,Page,H,of,H

StepR22:RMount,the,Spool,
Support,Arm,into,the,Vertical,Column-
Align,the,holes,and,insert,the,two,M5
Pivotbolts,from,the,old,armL,or,you,may
purchase,two,M5xH5mm,bolts-,,Secure
the,arm,but,donSt,over1tighten,the,bolts-
The,arm,should,pivot,freelyL,when,assembledL

StepR21:RRemove,the,original,spool,arm,from,the,
frame,using,a,Nmm,Hex,wrench,to,take,out,the,four,
M3,flathead,machine,screws,holding,it,to,the,frame-
Next,separate,the,hinge,from,the,arm,using,a,3mm,
Hex,wrench,to,take,out,the,two,M5,Pivot,Bolts-

RemovableRFoldingRArmR BackingRPlateRArmRBracketR


